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2025-26 
CHAPTER-WISE MARKING SCHEME

 

Tentative chapter-wise marking Scheme will help students to perform better in 
IGA. The actual marks distribution may differ depending on the prerogative of 
the authors/selectors/paper setters concerned. 

 

 

 
 

 

CLASS 6TH MATHS 9(30 Questions-120 Marks) : Numbers and Their Operations, 
Fractions and Decimals, Everyday Mathematics. Geometry and Mensuration, Data 
Handling, Sets and Their Representations 
SCIENCE(30 Questions-120 Marks) : Nutrition, Materials, Living World, Time, Distance 
and Speed, How Things Works, Environment 
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Choose the correct choice against the choice given in each of the following question:     

1) Plants whose flower and fruit both are eaten. 

a) Sugar beet       b) Ginger        c) Sugarcane         d) Banana 

2) Animals that give us eggs:- 

     a)Goat and chicken                      b)  Camel and goat 

     c) Camel and duck                      d)  Chicken and duck 

3) Food rich in starch:- 

a) Potato             b)Ghee          c) Fish                  d) Eggs 

4) Condition that excess body fats lead to:- 

a) Obesity           b) Rickets     c) Night blindness  d) Scurvy 

5) ________ can be given to a patient to recover from dehydration. 

a) Starch             b) ORS         c) Vitamins           d) Proteins 

6) Vitamin that carrot have in plenty:- 

a) Vitamin A     b) Vitamin B   c) Vitamin C      d) Vitamin E 

7) Mineral needed for maintaining the water balance in the body.  

a) Sodium         b)  Calcium       c) Iron               d) Fluorine 

8) The process of separating insoluble solids suspended in a liquid by allowing them to settle 

down:-  

a) Sieving         b)  Filtration      c) Evaporation  d) Sedimentation 

9) The process of changing a gas into liquid form is called:- 

a) Evaporation  b) Condensation   c) Filtration     d) Solution 

10) Grains and husk can be separated using _________ 

a) Decantation    b) Evaporation      c) Threshing   d) Sedimentation 

11) ________ is used to separate stones and pebbles from sand at construction sites. 

a) Sieving     b) Hand – picking   c) Evaporation    d) Sedimentation 

12) Jute is a fiber obtained from the ________ of the jute plant. 

a) Bark          b) Root         c)Leaf            d) Flower 

 

13) Process of making yarn from fibre:- 

       a) Spinning      b) Ginning       c) Weaving      d) Knitting 

14) Process of removing sticky substance from stems to get fibre:- 

a) Spinning    b) Ginning       c ) Retting       d) Knitting 

 15) Fibre used for making Khadi:- 

a) Cotton       b) Silk              c) Hemp          d) Flax 

16) Cotton grows best in ________ soil. 

a) Red              b)Clayey           c) Loamy         d) Black 

 17) Which of the following food provide energy ? 

a) Carbohydrates    b) Proteins  c) Vitamins   d) Minerals 

18) Deficiency of _______ leads to goitre. 

a) Vitamins         b) Iodine        c)Iron            d)Calcium 

19) Deficiency of iron leads to:- 

a) Anaemia        b) Goitre      c) Marasmus     d) Rickets 

20) Which of the following has a tap root? 

a) Maize       b) Wheat            c)  Pea              d) Rice 

  21) Which of the following possess fibrous root? 

a) Balsam         b)  Wheat      c) Marigold           d) Tulsi 

  22) Muscles are attached to the bones by:- 

a) Tendons       b) Cartilages     c) Ligaments     d) None of these 

  23) Which one of the following is an omnivore? 

a) Crow            b) Lion             c) Deer            d) Green plant 

  24) Which one of the following is rich in carbohydrates? 

a) Pea               b) Wheat          c) Carrot         d) Tomato 

  25) Iron _______ on heating. 

a) Contract        b) Expand        c)  Solidify      d) None of these 
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  26) A solution which can dissolve more of a substance is called _________ solution. 

a) Unsaturated     a) Saturated     b) Coloured         c) Freezing 

27) Leaves are green as they contain:- 

a) Haemoglobin      b) Chlorophyll   c)Leaf blade    d) Midrib 

 28) The Wildlife (Protection) Act was passed by the government of India in : 

       a)1992           b) 1982        c) 1972         d.)1999 

29) Adolescent age 

        a)  Starts at 11 years of age and ends at the age of 18-19 years 

b) Starts at 13 years of age and ends at the age of 16 years 

c) Starts at 9 years of age and ends at the age of 18-19 years 

d) Varies 

30) Secondary sexual characteristics develop in a females at the age of 

     a)  8 – 10 years    b) 10 – 18 years    c) 11 – 12 years     d) None of these 

31)  The additive inverse of 58 is 

             i) 58             ii)     - 58            iii)  1                iv)  0  

32)  Which of the following will not represent zero? 

i)     3+0       ii)     0×0             iii)  0/5            iv)    (6-6)/2 

 33)  The property exhibited by the equation 85+23=23+85 is  

    i)  Closure property            ii)  Commutative property        

   iii) Associative property        iv) Distributive property 

  34) The greatest prime number less than 100 is 

      i) 99               ii) 98              iii) 97                 iv) 96 

  35)  A polygon formed by three collinear points is known as 

      i) Triangle   ii) Quadrilateral        iii) Circle   iv) None of these 

 

 

 

  

36)  The absolute value of -6 is  

      i)  6           ii)  - 6            iii)1/6                iv)  -1/6 

 37) The integer which is three more than -1 is  

      i) 4             ii) 2                iii) 4                    iv) -2 

 38) Bars used to represent data in bar graph can be  

       i) horizontal only                           ii) vertical only       

      iii) Both horizontal and vertical    iv)  None of these   

 39) The expression
     

 
  is a _________. 

       i) monomial ii) binomial      iii) trinomial iv) quadrinomial 

  40) The perimeter of a rhombus is ________ times the length of the side. 

i) 2               ii) 4              iii) 3  iv) 5 

   41) The coefficient of x in the algebraic expression -7xyz is  equal to_________. 

i) -7  ii) 7yz  iii) -7yz  iv) xyz 

   42) Ratio of 150ml to 2litres is equal to __________. 

i) 75:1  ii) 3:48  iii) 3:40  iv) 40:3 

 

43) Area of a square park whose side is 8m is _______. 

i) 64m
2
  ii) 32m

2
  iii) 64m  iv) 32m 

 44) The sum of the lengths of a polygon is called its __________. 

i) volume ii) area        iii) perimeter        iv) None of these 

_________ Rough  work_____________________________ 
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45) The perimeter of a rhombus is _________ times the length of the side. 

i) 4                ii) 3            iii) 2              iv) 5 

46) A proper fraction where numerator is the smallest prime number and denominator is the smallest 

composite number is equal to - 

i) 1/4  ii) 2/6  iii) 1/6  iv) 2/4 

47) In a proper fraction, the numerator is always _____ the denominator. 

i) greater than  ii) smaller than   

iii) equal to  iv) None of these 

48) Ratio of a dozen to a score is equal to - 

i) 1:12  ii) 3:10  iii) 2:5  iv) 3:5 

49) In the word ‘Arithmetics’ the ratio of number of vowels to the number of consonants is equal to- 

i) 4:11        ii) 4:5  iii) 11:15 iv) 4:7 

50) The smallest decimal fraction upto three decimal places is equal to - 

i) 0.010        ii) 0.1011  iii) 0.001 iv) 0.011 

51) In a  proper fraction the value is always  

i) greater than 1      ii) less than 1     iii) 1        iv) None of these 

52) In a right angled triangle if one angle is 30
0
 then the third angle is ------------ 

i) 80
0
          ii) 60

0
          iii) 70

0
  iv) 40

0
 

53) Two prime numbers having a difference of 2 are known as 

i) prime triplet       ii) co-prime       iii) twin-prime iv) none 

_________ Rough  work_____________________________ 

 

 

 

 

 

 

 

 

54) The __________ of a number are infinite 

i) multiples ii) factors iii) both (i) and (ii)   iv) none 

55) Which of the following pairs are co-prime? 

i) 11, 12 ii) 15, 21 iii) 17, 51 iv) 5, 70 

56) A number which is neither prime nor composite is 

i) 1  ii) 2  iii) 3  iv) 4 

57) Prime triplet in the following sets are 

       i) ( 6,8, 10)     ii) (5, 7, 11) iii) (7, 9, 11) iv) (9, 11, 13) 

58) The product of any number and 1 is __________. 

         i) 1              ii) 0            iii) number itself       iv) none of these. 

59) Reciprocal of the number __________ does not exist 

i) -1     ii) 0   iii) 1   iv) 2 

60) The negative of the expression   (
  

 
)
 
  is 

i)  (
  

 
)
 
       ii)  (

 

 
)
 
   iii) (

  

 
)
 
  iv)  (

 

 
)
 
  

_________ Rough  work_____________________________ 
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